Auxiliary Problems for Chapter 5 
1.
Why do we tend to measure well-being in terms of economic outcomes when well-being arises from both material and intangible pleasures?  

2.
Suppose the production of hand-loomed shirts involves the following stages:

Stage 1: Farmer sells cotton to the spinner
$3

Stage 2: Spinner sells yarn to the weaver

$8

Stage 3: Weaver sells cloth to the tailor

$15

Stage 4: Tailor sells shirt to the retailer

$20

Stage 5: Retailer sells shirt to the consumer
$50

a) What is the value added at each stage?


Stage 1:______


Stage 2: ______


Stage 3: ______


Stage 4: ______


Stage 5: ______

b) 
How much does this output contribute to GDP?

c) 
Would the answer in (b) change if the finished shirt was imported by the retailer from Bangladesh?

3.
Calculate GDP using both the expenditures and income approach from the following data (in billions):

Consumption



$600

Gross Investment 



$550

Government spending 


$250

Employee compensation


$570

Net Interest income


$35

Corporate and Sole proprietorships’

Profit




$200

Imports




$200

Indirect Business Taxes


$75

Depreciation



$250

Exports




$150

Rental income



$220

4.
For the problem above:
a)
Calculate NDP and net investment.

b)
If this country’s population were 90 million, what would its GDP per capita be?  

5.
If nominal GDP rises by 5% and the price level goes up by 7%, what happens to real GDP?

6.
Suppose you are given the following data (in billions) on the Norwegian economy:

GDP = $750

Government purchases


$150

Consumption expenditures

$323

Household savings


$250

Investment




$157

Imports




$282

Personal Income Taxes


$58


a)  Find Norway’s exports.


b)  What are its net exports?
